A X Ah (Xﬂ)
(g1 (00) ><1+«1"

=3 /étf Ll‘{__ LN .

kil =>(op0) Xt YL

t 1
=D X ‘_“ 3 _7(_‘1, =) /é(»
x4 «1]' x (¥4‘1) - (02
CHAMAMO Cy( “ ) - y ok o ContmINENE

€ Glg= -y

Hhw w wea uUMe

/éw Ca (*«‘{)

(\/u() > (0)9)

AR

(\m() > (0,0)

"

fen.  mron
x1+t{ 20 => x+~1 > ><L => A
" n”'z 11'- x +a{"

I S
*

><14 1L (&‘1{) .-)(o'o)

/K‘f" C4 ()qkf) = L € IR

A> fEM D AMENE big) (o o)
&A Ce iy) - Lek
5 (Yﬂt) -’)(‘w,l’o)
- wer  cAwvp
L. .0
(‘((") - (0,5)
/Z, (vtf) = 0

(‘((‘1) - (OID)



= P4 Culvy) s L Y4 < L Cr (<)
(Y(%) (»(«1) Xt \{" [sqtf) - (0)0)

l

0 @ 0
[ b 3:1_‘1_ L o]
(v19) =(00) XL«*{"

Es 2. %(W ): A Swihawe  Pp U MN £ max

M) NoumE N ronaM  => T]S(*uf)ﬂ?

Ty - [2,2] .7 3. 2t oty
Ox Oy O (xt 24t)"

0 (W) - &x . &x
(xt+ 21l)1’ (xt+ 2\{‘)]'




M Yy
9\{ (X1+ ‘Z‘f)l

- Why-o {-_“__, L kgl [
(XT.* 2 L)L (X1+21L)L
-, | " Rx=0 _ [(y(?)=(o[o)] > W (00) € ESuuo ML oMo
_(“1,0 =y v W I werouAu
=3
dx x. wn(x) An(x) = A=)
2

ne (4_ cos(w) oA Al vwslrg o X 13& v 2cos(2x)

< 2 2 < < Yoy

<
y

< s

P X ytn(2x) _ de m(’«)]
L

1 4] wn (2x) 5 4 cos (’«)}
Y <



ES Y- Lnererr  wwa o SO A m x=0 & x-A

T 1 b
o o s L e Vet o Ly \de Tt
) (

usiamo 0 @
3
SREIEE ). 27 30“ 3ﬁd‘x

1

. de |4+ 6RR" - Solx {463y &

N\“

|

7(*) - 0+63 - 63

0
1

. 13 Ax(é}_)(ne&x) i %
6>

T T T 63

YT Y Z

(ﬂ{ml/

2%

3
. 2 [ A+63)"
o A3Y




